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St. Mary’s School, Dwarka 

              Holiday Homework 

                             Std. X 

         Week 2 

Worksheet 2 

 

Subject: English 
General Instructions: 

1) The work should be done neatly and in a systematic way. 

2) The given questions are to be done in the English notebook. 

3) Attempt all questions. 

 
                                                         SECTION A- READING (5 marks) 

Q1. Read the following passage.                                                                                      (1x5=5) 

1. The history of human civilization, right from the golden age, evolved parallel to the history of 

the ways we learnt to handle water and its resources across the globe. As urban areas expanded 

slowly and steadily, water resources were taken rapidly from remote sources, amounting to 

luxury engineering impacts like aqueducts, dams, and so on. During the Roman Empire's era, 

nine major systems had a drastic change with the help of a sophisticated idea of sewers, pipelines, 

etc. Such engineering advancements by the Roman occupants provided as much water per 

individual person as it has been in many industrial areas today.  

2.  It was evident that the water resources demand rose exponentially due to the industrial revolution 

and population growth in the 19th and 20th centuries. Moreover, enormous monuments and other 

tens and thousands of engineering projects were built, incorporating flood control systems, clean 

water supply, irrigation and hydropower projects that brought happiness to millions of human 

lives. There was also a food supply growing to compensate for the soaring population due to the 

spread of artificial irrigation systems that ensure a potential growth of 40% of the world's food. 

Almost one-fifth of the current electricity produced across the world is generated using big 

turbines spun by the power of a tsunami.  

 

3. However, there is a negative face to this picture. Besides our reach, nearly 50 percent of the 

world’s human population still faces hurdles, with water resources lesser than those had by the 

ancient Greeks and Romans. According to the United Nations (UN) report on access to water 

reemphasized in the month of November 2001, above one billion people are deprived of clean 

drinking water, and almost two and a half billion people do not have access to necessary 

sanitation facilities. Avoidable diseases pertaining to water kill an estimated 11,000 to 22,000 

children every day, and recent proof reveals that we need to speed up the process of solving 

problems before it is too late. 
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Based on your understanding of the passage, attempt the questions given below. 

i. What was the impact of the engineering advancements by the Russians?  

ii. The engineering projects helped in ____________________. 

iii. Why was water resources taken rapidly from remote sources?  

iv. Which of the following statements is NOT TRUE? 

a) Demand for water resources rose due to the industrial revolution and poverty. 

b) Big turbines spun by tsunami are used to generate one-fifth of the current electricity. 

c) 50 percent of the world’s human population still faces challenges with water resources. 

d) Almost two and a half billion people do not have access to necessary sanitation facilities. 

v. Suggest a suitable title for the above passage. 

Answer questions 2 to 4 in 20-40 words. 

Q2. Describe how the rain brought destruction in Lencho’s fields?                                                  (2) 

Q3. What did the world witness on 10th May, 1994 in South Africa?                                               (2)                                                                                                                                                  

Q4. “He should be lurking in the shadow, 

         Sliding through grass”. 

       Why do you think the poet does not prefer tiger in the zoo?                                                      (2) 

Answer question 5 in 60-80 words.    

Q5. “All the while, Mrs Pumphrey hovered anxiously in the background ringing a dozen times for the 

latest bulletins”. 

 Do you think Mrs Pumphrey’s concern for Tricki is justified? Why or why not?                           (3)                                   

Q6. Read any story based on the theme ‘Hope’ and create a story board in your own words.          (5) 

Q7. Read the following conversation between a doctor and patient. Complete the sentences by 

reporting the patient’s reply in reported speech.                                                                                (2) 

Doctor: What happened to you? 

Patient: I am experiencing severe stomach ache. 

Doctor: Since when have you been unwell? 

Patient: I have been experiencing stomach ache since last night. 

The doctor asked the patient what a)______________________________. The patient replied that 

b)______________________________stomach ache. The doctor further asked 

c)___________________unwell. The patient replied that d)____________________ . 

 

Q8. i. Identify the error in the given sentence.                                                                                   (1) 

Karacabey floodplain is a habitat to hundreds off species of birds each year. 

Error Correction 
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ii. Fill in the blanks by using the correct form of the word in the brackets.                                      (1) 

We a)____________________ (plan) a vacation since last year. Hopefully, we ____________ (visit) 

the Caribbean Island next month. 

Q9. You are Karan/Kanika of St. John School, Delhi. Your school is interested to visit the National 

Science Museum, Pragati Maidan next week. Write a letter to the Director inquiring about the venue, 

tickets, activities, timings etc. Invent other necessary details.                                                 (3)                                                                                                                                                    

Q10. You are Aman/Amita residing at 23-B, Kalyan Lane, Bhopal. In the last few weeks, there have 

been incidents of chain snatching in your locality. Write a letter to the Editor of a newspaper 

highlighting the aforementioned issue in 120-150 words.                                                                 (4)                                                                                   
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Subject: Hindi 

 

inado-Sa — 1 ide gae saBaI p``SnaaoM ko ]<ar ihndI kI ]%tr puistka maoM kIijae. 

   2 saBaI p`SnaaoM ko ]%tr pUNa- vaa@ya maoM ilaKkr sqaanaaoM kao roKMaiMkt kIijae. 

         3 kaya- svacC, Sauw evaM spYT laoK maoM kIijae. 

 

Pa`Sna 1   inamnailaiKt gad\yaaMSa pr AaQaairt p`SnaaoM ko ]%tr ]icat ivaklp caunakr dIijae:  

                                                                (1×5  = 5) 

maanava p`jaait ko ilae saMgaIt Bagavaana Wara idyaa gayaa ]phar hO. yah hmaaro ilae ek Aa%maIya kuMjaI 

ko samaana hO jaao hmaoM maanaisak tqaa SaarIirk svasqa Ép sao svasqa banaayao rKnao maoM hmaarI sahayata 

krta hO. saMgaIt vaao laya hO¸ jaao baIto samaya¸ psaMdIda sqaanaaoM¸ vyai>yaaoM yaa ]%savaaoM Aaid kI saBaI 

AcCI yaadaoM AaOr sakara%mak ivacaaraoM kao laata hO. saMgaIt bahut hI maQaur AaOr vaOiSvak BaaYaa hO¸ jaao 

saba kuC Saaint sao batata hO AaOr hmaarI saBaI samasyaaAaoM kao hmasao ibanaa pUCo K%ma krta hO.maOM 

saMgaIt ko p`it bahut p`itbaw hUÐ AaOr [sao AiQaktr saunata hUÐ. yah bahut baD,o str pr raht p`dana 

krto hue mauJao KuSa rKta hO. saMgaIt saunanaa maora SaaOk hO AaOr yah maoro svasqa AaOr sauKI jaIvana ka 

rhsya hO. yah maoro ilae Bagavaana ka taohfa hO¸ ijasao maOM Apnao Balao ko ilae p`yaaoga krta hUÐ AaOr 

[sako saaqa hI dUsaraoM kao BaI saMgaIt sauna kr [sasao laaBa laonao kI salaah dota hUÐ.maOM bacapna sao hI 

Apnao ipta ko karNa saMgaIt saunanao ka SaaOkIna haonao ko saaqa hI Apnao ima~aoM ko saaqa saMgaIt p`ityaaoigata¸ 

caca-̧  janmaidna samaaraoh¸ Aaid Anya sqaanaaoM pr gaayana maoM Baaga BaI laota hUÐ. saMgaIt maoro jaIvana ka 

bahut mah%%vapUNa- Baaga hOÂ maOM saMgaIt ko ibanaa Apnao jaIvana kI klpnaa BaI nahIM kr sakta. maoro 

maata¹ipta¸ ivaSaoYa Ép sao maoro ipta nao mauJao saMgaIt saIKnao maoM bahut p`ao%saaiht ikyaa AaOr maorI [sa 

Aadt kao ek Ad\Baut phcaana dI.saMgaIt bahut hI Aasaana hOÂ ijasao kaoš BaI iksaI BaI samaya saIK 

sakta hO halaaMik¸ [sao saIKnao ko ilae SaaOk¸ inayaimat AByaasa AaOr AnauSaasana kI AavaSyakta hO. 

maOM baMsaI bajaanaa bahut AcCo sao jaanata hUÐ¸ ijasako karNa maoro ima~aoM AaOr saaiqayaaoM ko baIca maoM maorI kafI 

p`SaMsaa haotI hO. yah maoro maistYk kao Saant krnao ka kaya- krta hO. [sako saaqa hI yah mauJao 

sakara%mak ivacaaraoM sao BaI Barta hO jaao maoro vyai>gat jaIvana maoM maorI kafI sahayata krta hO. [sa 

trh kha jaa sakta hO ik¸ saMgaIt AaQyaai%mak¸ maanaisak AaOr SaarIirk Sai> p`dana krnao ko saaqa 

hI manauYya maoM Aa%maivaSvaasa kao BaI ivakisat krta hO. 

        (i)     manauYya ko ilae saMgaIt iksako samaana hO Æ                    1                                                

          ³k´ Aai%mak kuMjaI ko samaana 

          ³K´ maanavaIya kuMjaI ko samaana 

          ³ga´ AaQyaai%mak kuMjaI ko samaana 

          ³Ga´ saai%vak kuMjaI ko samaana                                                                

        (ii)  saMgaIt manauYya ko maistYk kao kOsao ivacaaraoM sao Bar dota hOÆ        1                              

         ³k´ rajanaIitk ivacaaraoM sao. 

         ³K´ p`dUiYat ivacaaraoM sao. 

         ³ga´ nakara%mak ivacaaraoM sao. 
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         ³Ga´ sakara%mak ivacaaraoM sao.                

        (iii) saMgaIt saIKnao ko ilae iksakI AavaSyakta haotI hOÆ               1                              

        ³k´ SaaOk¸ Ainayaimat AByaasa AaOr AnauSaasana 

        ³K´ SaaOk¸ inayaimat AByaasa AaOr AnauSaasana 

        ³ga´ Saaok¸ inayaimat AByaasa AaOr kuSaasana 

        ³Ga´ SaaOk¸ inayaimat AByaasa AaOr svaSaasana      

        (iv) saMgaIt maanava ko vyai@t%va maoM iksa gauNa ka ivakasa krta hOÆ        1                           

         ³k´  Aa%masaMyama 

         ³K´  Aa%ma$ica 

         ³ga´  Aa%maicaMtna 

         ³Ga´  Aa%maivaSvaasa 

     (v)   ‘maata – ipta’ ka sahI samaasa ivaga`h @yaa haogaaÆ                     1                               

         ³k´  maata ko saaqa ipta 

         ³K´  maata saiht ipta 

         ³ga´  maata AaOr ipta 

         ³Ga´  maata maoM ipta 

 

     inamnailaiKt p`SnaaoM ko ]%tr ]icat ivaklp caunakr dIijae: Á    (1×5  = 5) 

   p`Sna 2 vah baat-baat pr raonao lagata hO.vaa@ya maoM roKaMikt pdbaMQa kaOna- saa hOÆ    1 

        ³k´ saM&a pdbaMQa 

        ³K´ ik`yaaivaSaoYaNa pdbaMQa 

        ³ga´ ik`yaa pdbaMQa 

         ³Ga´ ivaSaoYaNa pdbaMQa 

   p`Sna 3 proSaainayaaoM sao na harnao vaalao Aap inaraSa kOsao hao gaeÆ vaa@ya maoM sava-naama pdbaMQa kaOna-saa 
hOÆ                                                              1 

         ³k´ proSaainayaaoM sao na harnao vaalao Aap 

         ³K´ proSaainayaaoM sao na harnao vaalao  

         ³ga´ proSaainayaaoM sao  

         ³Ga´ proSaainayaaoM sao na harnao  

 

p`Sna 4 ‘saahsaI ivad\yaaqaI- ]nnait krto hOM.’[sa vaa@ya ka ]pyau@t imaEa vaa@ya kaOna-saa hOÆ   1 

      ³k´ saahsaI ivad\yaaqaI- hO AaOr ]nnait krto hOM. 

      ³K´ saahsaI ivad\yaaqaI- hO¸]nnait krto hOM. 

      ³ga´ jaao ivad\yaaqaI- saahsaI haoto hOM vao ]nnait krto hOM. 

      ³Ga´ saahsaI ivad\yaaqaI- hO [sailae ]nnait krto hOM. 
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p`Sna 5 maaohna nao riva sao kha ik tuma maata ipta kI maohnat kI kmaa[- @yaaoM barbaad kr rho hao Æ 

roKaMikt SabdaoM ko sqaana pr iksa mauhavaro ka p`yaaoga ikyaa jaaegaaÆ             1         

           ³k´ gaIlaI kmaa[-. 

    ³K´ gaâva kI kmaa[-. 

    ³ga´ gahrI kmaa[-. 

           ³Ga´ gaaZ,I kmaa[-. 

p`Sna 6  ‘daoraha’ ka ]icat samaasa ivaga`h @yaa haogaaÆ                              1  

                   ³k´ dao rahaoM ka samaahar 

  ³K´ dao rahI ka samaahar 

  ³ga´ dao rataoM ka samaahar 

          ³Ga´ dao ragaaoM ka samaahar 

                    

inamnailaiKt p`SnaaoM ko ]%tr dIijae —                                 (3×2  = 6)                          

                                                                  

p`Sna 7  maIra EaIkRYNa kI Bai@t sao p`aPt haonao vaalao ikna laaBaaoM ko ivaYaya maoM batatI hOM ? vao igairQar 

sao Alaga @yaaoM nahIM haonaa caahtI ?  

p`Sna 8 puilasa kimaSnar ka naaoiTsa kaOMisala ko naaoiTsa sao iksa p`kar iBanna qaa ? saaQaarNa AadmaI 

iksa p`kar puilasa kimaSnar kI sahayata lao sakta hO ? 

inamnailaiKt p`SnaaoM ko ]%tr dIijae —                                  ( 2×2= 4) 

 

Pa`Sna 9³k´ hirhr kaka kI iksa isqait nao laoKk kao icaMitt kr idyaa Æ  

      ³K´ kqaavaacak AaOr hirhr kaka ko baIca @yaa saMbaMQa hO AaOr [sako @yaa karNa hOMÆ 

 

Pa`Sna 10  Aap saMskar piblak saIinayar saokoMD/I skUla¸ SaalaImaar baaga¸ idllaI ko Ca~a pllava hao. 

Aapnao Apnao ivaValaya ko Ca~a kao ek saahisak kaya- krto doKa. ]sa sahpazI kao pursÌt evaM 

sammaainat krnao ko ilae Apnao ivaValaya ko p`Qaanaacaaya- kao lagaBaga 120 SabdaoM maoM p`aqa-naa p~a 

ilaiKe.                            (1×5=5)   
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Subject: Mathematics 
General Instructions: 

1) The work should be done neatly and in a systematic way. 

2) The given questions are to be done in the Math practice notebook. 

3) Attempt all questions. 

 
Q-1 Express each number as a product of its prime factors:                                  (2) 

            (i)3825            (ii)5005 

Q-2 Given that HCF (306, 657) = 9, find LCM (306, 657).                                   (2) 

Q-3 The following real numbers have decimal expansions as given below. In each case, decide 

whether they are rational or not. If they are rational, and of the form, p/q what can you say about the 

prime factors of q?                                                    (2) 

(i) 43.123456789 

(ii) 0.120120012000120000 

Q-4 Check whether 6n can end with the digit 0 for any natural number n.               (2) 

Q-5.Find HCF and LCM of 13 and 17 by prime factorisation method.                    (2) 

Q-6.Prove that 2 + 3√5 is an irrational number.                                                        (3) 

Q-7 Show that the square of any positive odd integer is of the form 8m + 1, for some integer m.   (3) 

Q-8. Find the remainder when x3+ x2 + x + 1 is divided by x – 12 using remainder theorem. (3) 

Q-9 Prove that 2√3 – 1 is an irrational number.                                                        (3) 

Q-10 Prove that the product of any three consecutive positive integers is divisible by 6.                 (3) 
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Subject: Science 

Objective: 

• Revision of concepts. 

• Skills to carry out research and develop scientific aptitude. 

• Encouraging learning through experience. 

Instructions:  

* Neatly write the answers in your respective subject notebooks. 

* Attempt the questions keeping in mind the weightage of each question. 

 

 

Q1. Define then term nephron.         (1) 

Q2. A lens forms a real image of an object. The distance from the object to the lens is x cm and that 

from the lens to the image is y cm. The graph given below shows that variation of y with x. Determine 

the type of lens and its focal length.                 (1)                             

 

Q3. Identify the substances getting oxidized and reduced in the following chemical reactions:    

                    (2) 

(i) Fe2O3 + 2Al → Al2O3 + 2Fe 

(ii) ZnO + C  → Zn + CO 

Q4. Why do plants coated with Vaseline or wax do not remain healthy for a long time?  (2) 

Q5. Draw a labelled ray diagram to show how a ray of light passes through a parallel-sided glass 

block:                          (3)                                                                                                                                                

(a) if it hits the glass block at 90∘ (that is perpendicular to the glass block) 

(b) if it hits the glass block at an angle other than 90∘ (that is, obliquely to the glass block).  

Q6. A silver wire is dipped in an aqueous solution of copper sulphate in one beaker while in another 

beaker, a copper wire is dipped in the aqueous solution of silver nitrate. What type of chemical 

reaction takes place in both the beakers? Write the chemical equation/equations involved.      (3) 

Q7. Define blood pressure. How do systolic pressure and diastolic pressure differ from each other?

                (3)           
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Q8. (i) A lens produces a magnification of -0.5. Is this a converging or diverging lens?    

If the focal length of the lens is 6 cm, draw a ray diagram showing the image formation  

in this case.                                 (3+2) 

(ii)A boy was playing with a thin beam of light from a laser torch by directing it from different 

directions on a convex lens held vertically. He was surprised to see that in a particular direction the 

beam of light continues to move along the same direction after passing through the lens. Draw a ray 

diagram to support your answer.    

Q9. Explain the term rancidity with the following subheadings-                                                 (5)       

• Definition 

• Examples 

• Preventions  

Q10. Draw a neat and labelled diagram of human respiratory system.      (5) 
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Subject: Social Science 

General Instructions:  

1) The work should be done neatly and in a systematic way.  

2) The given questions are to be done in your respective subject notebooks. 

 

Q1. Define National resources and Individual resources?       1 

Q2. Who founded the secret society, ‘Young Italy’ during the 1830s?    1 

Q3. What was the main aim of the French revolutionaries?      1 

Q4. What is soil erosion? How do human activities and natural forces cause soil erosion?  2 

Q5. How is a federal form of government different from a unitary government? Explain with 

examples.               3 

Q6. What does the following cartoon represent?       3 

 

Q7. The destruction of forests and wildlife is not just a biological issue. The biological loss is strongly 

correlated with the loss of cultural diversity. Elucidate.      3 

Q8. Highlight any three major advantages of public facilities.     3 

Q9. Does availability of good health and educational facilities depend only on amount of   3 

  money spent by the government on these facilities? What other factors could be relevant? 

Q10. Explain the contribution of Otto von Bismarck in German unification.   5 
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Subject: Information Technology 
General Instructions: 

1) The work should be done neatly and in a systematic way. 

2) The given questions are to be done in the Computer Science notebook. 

3) Attempt all questions. 

I Multiple Choice Questions 

i. Computer based record keeping system is known as:      1 

(a) Data Manipulation System 

(b) Computerised Data System 

(c) Computer record Keeping System 

(d) DBMS 

ii. RDBMS provides relational operators to manipulate the data. Here, RDBMS refers to:  1 

(a) Record Database Management System  

(b) Relational Database Management System  

(c) Reference Database Management System  

(d) None of the above  

 

iii. A database that contains tables linked by common fields is called a :    1 

(a) Centralised database  

(b) Flat file database  

(c) Relational database  

(d) None of the above  

 

iv …………… refers to the attribute that can uniquely identify tuples within the relation. 1 

 (a) Foreign key (b) Consolidate key (c) Alternate key (d) Primary key  

v. Key field is a unique identifier for each record. It is defined in the form of    1 

(a) rows (b) columns (c) tree (d) query 

II Case-based Questions 

Q2 Read the following case study and answer the following questions.    1x4=4 

Mr. Amar Agarwal is the owner of his parental firm Agarwal & Sons which deals in the wholesale 

business of spices. He wants to maintain records of spices available in their shop and generate bills 

when someone purchases any spices from the shop. They want to create a database to keep track of all 

the spices in the shop and the spices purchased by customers. 

(i) Which is the correct SQL statement to create the table? 

(a) CREATE TABLE spice(scode integer, sname char(25), price decimal, stock integer) 

(b) CREATE spice(scode integer, sname char(25), price decimal, stock integer) 

(c) CREATE spice(scode , sname , price, stock) 

(d) SELECT TABLE spice(scode integer, sname char(25), price decimal, stock integer) 
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(ii) To add records in the table, which of the following SQL statements is used? 

(a) ADD (b) SELECT (c) INSERT (d) INSERT INTO 

(iii) To add a new column exp_date in the existing table the statement is 

(a) ALTER TABLE spice ADD (exp_date date); 

(b) UPDATE TABLE spice ADD (exp_date date); 

(c) MODIFY spice ADD (exp_date date); 

(d) ALTER TABLE spice MODIFY (exp_date date); 

(iv) To view the table structure of the above created table the command is 

(a) SELECT spice 

(b) DESC spice 

(c) DESCRIBE spice 

(d) Both (b) and (c) 

Q3 Consider the table STUDENT with following details.     1x5=5 

 

(i) SQL Command to select all Commerce students from the table STUDENT. 

(a) SELECT * FROM STUDENT; 

(b) SELECT Stream FROM STUDENT WHERE Stream= ‘Commerce’; 

(c) SELECT * FROM STUDENT WHERE Stream = ‘Commerce’; 

(d) SELECT Name FROM STUDENT WHERE Stream = ‘Commerce’; 

(ii) View all records other than ‘12A’ class.  

(a) SELECT DISTINCT Class FROM STUDENT; 

(b) SELECT Class FROM STUDENT WHERE (Class NOT = ‘Science’); 

(c) SELECT * FROM STUDENT WHERE Class NOT IN (‘Science’); 

(d) SELECT Name FROM STUDENT WHERE Stream = ‘Commerce’; 
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(iii) Modify the marks of Kanika as 85.5. 

(a) ALTER TABLE STUDENT SET Marks = 85.5 WHERE Name = ‘Kanika’; 

(b) UPDATE STUDENT SET Marks=85.5 WHERE Name = Kanika’; 

(c) UPDATE TABLE STUDENT SET Marks =85.5 WHERE Name= ‘Kanika’; 

(d) ALTER STUDENT SET Marks=85.5 WHERE Name= ‘Kanika’; 

(iv) Command to delete all records that belongs to ‘Science’ stream . 

(a) DELETE FROM STUDENT WHERE Stream=‘Science’; 

(b) DROP FROM STUDENT WHERE Stream=‘Science’; 

(c) DROP TABLE STUDENT WHERE Stream=‘Science’; 

(d) DROP STUDENT WHERE Stream=‘Science’; 

v) Add a record of new student ‘Rashmi’ of ‘Humanities’ stream in class ‘12B’ and her marks is 

‘70.9’. 

(a) INSERT INTO STUDENT VALUES (‘Rashmi’,‘Humanities’, ‘12B’, 70.9); 

(b) INSERT INTO STUDENT VALUES (7,‘Rashmi’,‘Humanities’, ‘12B’, 70.9); 

(c) INSERT INTO STUDENT VALUES (‘Rashmi’,‘Humanities’, 70.9, ‘12B’); 

(d) INSERT INTO STUDENT VALUES (7,‘Rashmi’,‘Humanities’, 70.9, ‘12B’); 

Practical Work: 

S. No Practical  

1 Create a database named “Employee Database Management” to store the records of 

employees at the tables.   

2 Create a table “Employee_Details” with the following fields Emp_No, Employee 

Name, Department, Designation,dateofjoining and Mobile Number in Design view.  

3 Create minimum 5 queries through SQL command using wildcard(*), Where, Order 

By on Table: Employee_Details  

4.  To get all the records of the employees from Finance department from the 

 Employee_Details with the help of a Query wizard.  

5. Create a form using the above table-  Employee_Details and take the screenshots of 

the steps. 

6. Write the steps to create a blog and post and publish on www.blogger.com/   or 

 www.wordpress.com/  on any topic of your choice. 

 

http://www.blogger.com/
http://www.wordpress.com/

